
 

 

Republic of the Philippines 

Department of Agriculture 

Bureau of Fisheries and Aquatic Resources-VII 

BIDS AND AWARDS COMMITTEE  
Arellano Blvd., Cebu City 
Tel. No. (032) 260-6398   Email: bacbfar7@gmail.com   website: www.region7.bfar.da.gov.ph    

Philippinesel. No. (032) 260-6398 website: www.region7.bfar.da 

SUPPLEMENTAL BID BULLETIN  
No. 2023-07 

 

SUBJECT: Bid Reference No. 2023-064 entitled “SUPPLY AND DELIVERY OF 
SIX (6) UNITS MARINE ENGINE 16 HP WITH COMPLETE 
ACCESSORIES FOR THE IMPLEMENTATION OF SAAD PHASE II 
PROGRAM FOR THE DISTRIBUTION OF 6 UNITS FRP BOAT WITH 
ENGINE AND COMPLETE ACCESSORIES IN SUPPORT TO FISH 
PRODUCTION AND FOOD SECURITY PROGRAM IN CEBU 
PROVINCE”. 

 

This Supplemental Bid Bulletin No. 07 for Bid Reference No. 2023-064 is issued to 
all participating bidders to clarify, amend and/or modify certain provisions and 
requirements set forth under the above-entitled procurement project, to wit: 
 

For further inquiries, please coordinate/refer to: 

riginal signed 
SHARMAINE ROSE R. NAVARRA 
BAC Secretariat 
Tel. No. (032) 239 3820 local nos. 106 or 09976619824 

bacbfar7@gmail.com 

 
 

 Original signed 
JESELITA G. RUINATA 
Chairperson 
BFAR-7, Bids and Awards Committee 
 

 

SBB#07BR#2023-064 

 

 
PARTICULARS 

 
CLARIFICATIONS/AMENDMENTS 

  
       Specifications: 
  

- Accessories: 
 

- 12 pcs. Brass pipe ¾ x 7” 
- 12 pcs. Stainless shafting ¾ x 9’ 
- 12 pcs. Propeller ¾ x 9” 
- 12 pcs. Cross joint ¾ x 1” 
- 12 pcs. Rudder assembly 5/8 x 3.5 

(plate size 6” x 8”) 
 

- 48 pcs. Stand Bolt #3/8 x 2 1/2 
- 96 pcs. Nuts 3/8 
- 96 pcs. Washer 3/8  

 

 
       Specifications/Corrections: 
  

- Accessories: 
 

- 6 pcs. Brass pipe ¾ x 7” 
- 6 pcs. Stainless shafting ¾ x 9’ 
- 6 pcs. Propeller ¾ x 9” 
- 6 pcs. Cross joint ¾ x 1” 
- 6 pcs. Rudder assembly 5/8 x 3.5 

(plate size 6” x 8”) 
 

- 24 pcs. Stand Bolt #3/8 x 2 1/2 
- 48 pcs. Nuts 3/8 
- 48 pcs. Washer 3/8  

 

http://www.region7.bfar.da.gov.ph/

